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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER-VI « EXAMINATION - SUMMER 2013

Subject Code: 366001 Date: 09/05/2013
Subject Name: Traffic Engineering - 11
Time: 10:30 am TO 01:00 pm Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic
Q.1 (a)  Define the following terms :
(1) Flow (2) Space Mean speed (3) Space headway (4) Speed
(5) Concentration (6) Capacity (7) Time headway
(b)  Enlist the factors affecting Level of Service and capacity of road and
explain in brief.
Q.2
(a)  Write the importance of “Capacity” in Highway transportation
Studies.
(b)  Give advantages and disadvantages of traffic signals.
OR
(b)  Explain capacity of Freeways and Expressways and give level of
service for them.
Q.3
(a)  Write a short note on parking meters.
(b)  Write short note on Off-street parking.
OR
Q3 (a) AB and CD are two section of a highway intersecting with weaving
section. It is desired to provide a level of service B for the traffic
volume indicated in the fig.1. The maximum service volume is 1000
pcu/hr/lane. Determine the width of the weaving section. Take k=2.6.
(b)  Write short note on P.C.U.
Q4
(a)  Write short note on effect of noise.
(b)  Write short note on air pollution.
OR
Q.4 (a)  What is Traffic Island? Explain different types of Traffic Island.
(b)  Explain the Ill-effects of parking.
Q.5
(a)  Enlist the types of Traffic Signs and draw two signs of each type and give
their meaning.
(b)  Write about the needs for co-ordinated control of signals.
OR
Q.5 (a)  Enlist types of road markings and explain any two with diagrams.
(b)  Derive linear relationship between Speed and Density. Draw graph

showing relation between speed-flow, speed-density and flow density.
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